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1Y T 6T 8T FMET |

(vi) T G729 3] 30 FTRT 3T qeT & A dret 59T 3-3 3F F & | 3 T BT F
&5, T P STR-GITahT & 3153 78T Y 7T |

General Instructions :
(i)  The question paper has 30 questions in all. All questions are compulsory.
(ii) Marks are indicated against each question.

(iii) Questions from serial number 1 to 8 are Very Short Answer Questions. Each
question carries 1 mark.

(iv) Questions from serial number 9 to 20 are 3 marks questions. Answers of these
questions should not exceed 80 words each.

(v) Questions from serial number 21 to 28 are 5 marks questions. Answers of these
questions should not exceed 100 words each.

(vi) Question number 29 and 30 are map questions of 3 marks each from History and
Geography both. After completion, attach the maps inside your answer-book.

1. S=irgdl St % SR 2RI H SR §Y HeT o bt SIRGR HT 47 & 2 1
aran
T Bt 3T T A A faaam Jeeh & oiaeh & A fafau |

What was the strong demand of the emerging middle classes in Europe during
nineteenth century ?

OR
Name the writer who wrote the book ‘The History of the Loss of Vietnam.’

2. @ R YR @R o W i TMTied Sl € ? 1

How does mining affect the health of miners ?

3. JAS UUE HIEAINE HHgHE THEesT hed¥ Sl I 3299 [ | 1

State the main aim of Backward and Minority Communities Employees Federation.

4. T Bror A fafe=T axgell & Felan Hied gAR! UEd | Sueis € 2 1
Due to which reason the latest models of different items are available within our reach ?
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5. A 3T SAESH & WA T WU & eI ARl €, IR JHMRR bt SAHST S F AR
T | 39 Ommel | fashar §RT fohe SUMIERTT SR T Seota a1 747 € 2 1

If you are not interested to buy a brush with tooth-paste but shopkeeper denied to sell

tooth-paste only. In this case which consumer right is being violated by the seller ?

6. o fau & fed THel 3R ST M % fod Tl § 3TR iy | 1

Differentiate between ‘Sectional interest groups’ and ‘Public interest groups’.

7. USSR TSI ST ol olehdiisieh SFael § 31esT &=l T8l qHT Sar & 2 1

Why is one party political system not considered a good democratic system ?

8. TSI fohd WK STEvTeharsti & igY TANT i SMETshdl Sl THIG Hdl § 2 1

How does money eliminate the need for double coincidence of wants ?

9. S T 3Tkt T YR o 3MER W ailichd T | T UH TR A FA ISR =€ 2 1+2=3

Classify industries on the basis of their main role. How are they different from each other ?

10. SIS g7 fhd ed € 9 IRAT SHAT U e & ot s fagei #1 Sooig
HIT | 1+2=3

What is a political party ? State any two points of the ideology of Bhartiya Janta Party.

11. Siffaan § St o FHSieRor o fa%g a9y &l Agcd e fhar 2 39 Se 511 forig & fow
3TUATT T LT T FUH I | 1+2=3

Who led the protest against water privatization in Bolivia ? Describe the ways of

protest adopted by that organization.

12. T Gerd Ggel i STTUROM TRis & feld [ Wb He<aqol & 2 310 AR e it | 3

How is the concept of Self Help Groups important for poor people ? Give your view

point.
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13.  “AIH0T AT Sl o TATEAT o SUFNT i A SEATAHAT & |7 SUIHT Tohi Ared 30 H
TGS 23 | 3x1=3
“There is a pressing need to use renewable energy resources.” Justify the statement

with suitable arguments.

14. TR ¥ SREd 3R S~gal Qgar & IR TG 5 TLAR b [T H Hewagor qHeht

g 1 3eTereT wfed wue i gfte HT | 3x1=3
rear

“ShIAITaET = foRraTe | ToreT B T ® gt A h foIU faf= o)k SO 17 3RO

Tfed Fo = g FHIT |

“Culture had played an important role in the development of nationalism in Europe

during eighteenth and nineteenth centuries.” Support the statement with examples.

OR
“French tried to solve educational problems in Vietnam in different ways.” Support the

statement with examples.

15. fatu= st 9gg afema e SAiRieH 9 =1 S 2 T ST | 3

Why did the different social groups join the Civil Disobedience Movement ? Explain.

16. ST& WA HHYH IR YgaT df I W TIeH- aad STef’ & AR ¥ far mn | yrdwat
T T AATHAT & 98T H Tk T | 3

Simon Commission was greeted with slogan ‘Go back Simon’ at arrival in India.

Support this reaction of Indians with arguments.

17.  ad uRfefaar 3T @t 290 & fo g (Hivea Sofia soeme Mest &l & 1 30 o ol aehi

gied =Aitad &R | 3x1=3

“No party system is ideal for all countries and all situations.” Justify the statement

with arguments.

18. e AT fhg TR =reten! & SR bl Tiferd hidl & 2 3SRL0T Higd W ST | 3x 1=3

How do large companies manipulate the market ? Explain with examples.
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19.

20.

21.

22.

23.

24.

25.

“TRIT TRER 37t off 307 o feIu eroeniies | X R € 1 39 e i gfte SS1eevl dfed

HINT | Ix1l=

“Poor households still depend on informal sources of credit.” Support the statement

with examples.

“RA AR I Tk TEwau] AIel-38Td 3cAISeh 91 § a2 1 319 qof W1eg 1 faehra et
FATE 1 JoT G Taepra I & felt ig 19 ST GATST 31X ST AR it |

“India is an important iron and steel producing country in the world. Yet we are not

able to perform to our full potential.” Suggest and explain any three measures to get

full potential.

TG AT T hdl T 91T U 3101 SeaTe SohTeal Tad i § Wiid e arel

T2l urd RISl AUH HIT | S5x1=

Describe any five factors that promote the Multinational Corporations (MNCs) to set-

up their production units in a particular place.

IRA | v fove g = f6g TR ek T 3nféep SR Tetitaes feifa UsT 6 2 Seexvl afed

Waﬁr:_lel S5x1=

How did the ‘First World War’ create a new economic and political situations in

India ? Explain with examples.

ST Yeg ! IR SHITSTT | T ol AR o & H -7 ST ST € 2 WL BT 11 + 4 =

Define the term ‘tourism’. Why is tourism known as a trade ? Explain.

JTAIHTOT FRT TE TEAT § DI IR S HHRT o THeT YT 1 TE T FHTS T 0

5|§3Q| Sx1=

Describe the major problems created by the globalization for a large number of small

producers and workers.

“ATehds & SHIHHIST o Ui SN hl ST oFefd ShiAT lehc ohi Toholdl &l S9nar & I 39
T It 38y |

“A public expression of dissatisfaction with democracy shows the success of

democratic project.” Justify the statement.

3

3

5

5

5

5
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26. “@HST FAR SiaA % STa 9T € 1 33RO Gled F i g HT | 5x1=5

“Minerals are indispensible part of our lives.” Support the statement with examples.

27. Ak T SHaeTE e AU i HH - U 31Ty Gl fG@re T&l ggdl & 1
T I [0 ST | 5x1=5

“Democracies are not appearing to be very successful in reducing economic

inequalities.” Analyse the statement.

28. “FU H I GE % AW AATE TP ALATS T SACIEART STRAG! AP e ST
TET TET ST TSI % VAT T H AT |7 3 U T SRV Wed [TeeisuT Hif | 5x1=5
rerat
“1960 % T91% T foad T T SIRaT Sl 5T & ATF-91d HIETRT o €9 H 997 fohar mr 17 59
I T TR Hed [aeersoT HiT |

“Nationalism no longer retained its idealistic liberal democratic sentiment by the last

quarter of the nineteenth century in Europe.” Analyse the statement with examples.

OR
“Women were represented as warriors as well as workers in Vietnam in the 1960s.”

Analyse the statement with examples.

29. TF @01 — (A), (B) 3T (C) YR & ToHideh {@-AMes | 3ifehd 6T 70 € | &7 7810
FrefafEd STFeRT St FerFar ¥ Tean-y 3R S T&t A Arad | 3ifha &t ¢ et w
ferfaT - 3x1=3
(A) T T SR YR AT HiU 1 SATE9 g T |
(B) & T ST “HT A 3 I I I gl T |

(C) =& T STl [ha T = HeATE ol IS [har &7 |

Three features (A), (B) and (C) are marked on the given political outline map of India.
Identify these features with the help of the following information and write their

correct names on the lines marked in the map :
(A) The place where the Indian National Congress Session was held.
(B) The place where the ‘No Tax Campaign’ was started.

(C) The place where peasants organized a Satyagraha.
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A ; F=TAREd Te hae giteatted adieniea & o ues T 29 % T W E
(29.1) 39 TIF H1 AW gy, STt faam=r 1920 T YR T T 1 SATaE gatm or |

(29.2) 39 WM H A4 fAMEE, ST T A I T I Y g3 7 |

(29.3) ToRIA  fREET 7 e w W Geamrg fohar ar 9

Note : The following questions are for the Visually Impaired candidates only, in

lieu of Q. No. 29 :

(29.1) Name the place where the Indian National Congress Session was held in

September, 1920.
(29.2) Name the place where ‘No Tax Campaign’ was started.

(29.3) At which place did the peasants organize Satyagraha in Gujarat ?

30. WRd & T T IoIae TE-AMET B HEteiad s S el ¥ 39 K 39 AW

ferfa - 3x1=3
(A) 3TOTfeeh el Ha S IGREE]

(B) T & S WA A LG

(C) v TS —  Wigel

On the given political outline map of India locate and label the following with

appropriate symbols :

(A) Nuclear Power Plant — Kalpakkam
(B) [Iron and Steel Plant - Rourkela
(C) Major Sea Port - Kandla
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e : TAfeEd Te hae gheaTed aeterat & o 7o @ 30 & ®H WE

(30.1)  THoTasRRH TRHT] o1l G fohe Tog o e & 2

(30.2) 3H T 1 AW ARG ST TSTahell ol & S 943 g ¢ |

(30.3) wigen g fopd T oX feErd & 9

Note : The following questions are for the Visually Impaired Candidates only, in
lieu of Q. No. 30 :

(30.1) In which state is Kalpakkam Nuclear Power Plant located ?

(30.2) Name the state where Rourkela Iron and Steel Plant is located.

(30.3) On which coast is ‘Kandla’ port located ?

32/2/3 8



TRA . 29 o fTT AR
Map for Q. No. 29
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U . 30 & foT A
Map for Q. No. 30
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MARKING SCHEME
SOCIAL SCIENCE-087 (FOREIGN)

SECONDARY SCHOOL EXAMINATION MARCH 2016

SA-ll, Set-3 (32/2/3)

Q.NO. EXPECTED ANSWERS/ VALUE POINTS PAGES
MARKS
1 The strong demand of emergencies middle class in Europe was freedom of markets | 9(H) 1
and the abolition of state imposed restructure on the movement of goods and
capital.
Or
. ‘ . . Vi ; ’ 56(G) 1
The writer of the book ‘The History of The Loss of Vietnam’ is ‘Phan Boi Chau’.
2 The effect of the mining on the miners of health: 56(G) 1
The dust and the noxious fumes inhaled by the mineral makes them vulnerable to
pulmonary diseases.
3 BAMCEFs main aim is with social justice and social equality for the entire society 65(PS) 1
4 Due to globalization the latest models of digital camera , mobile phone, TV, etcare | 55(E) 1
available with us
5 Right to choose 81 1
6 Sectional interest groups-seek to promote the interest of a particular section 64(PS) 1
Public interest groups-promotes collective rather than selective good
7 One party system has no democratic option. 77(PS) 1
8 1
If you have money in your pocket you can purchase any thing at any time as you 39(E)
wish.
9 According to their main role: 67(G) 1.5+1.5=3

e Basic or key industries which supply their products or raw materials to
manufacture other goods e.g. iron and steel and coppers melting, aluminum
smelting.

e Consumer industries that produce goods for direct use by consumers — sugar,




toothpaste, paper, sewing machines, fans etc.

10 A political party is a group of people who come together to contest elections and
hold power in the government. They agree on some policies and programmes for
the society with a view to promote the collective good (1)
ideology of BJP
i Wants full territorial and political integration of Jammu and Kashmir with
India
ii. A uniform civil code for all people living in the country irrespective of
religion
iii.  Cultural nationalism.
iv.  Any other relevant point
Any two points to be explained (2)
80(PS) 1+2=3
11 Protest against water privatization in Bolivia:
FEDECOR (comprised local professionals, including engineers and Environmentalists)
, human rights and community leaders (1)
Ways of their Protest:
i. Organized a successful four-day general strike in the city.
ii. Influenced the decision through direct participation in competitive politics.
iii. Created parties and formed governments.
iv. Formed pressure groups for the protest.
V. Any other relevant point 62(PS) 1+2=3
Any two points to be explained (2)
12 Self Help Group
i.  SHGs help in pooling the savings of the members, who are poor people.
ii. Members can get timely loans for a variety of purposes
iii. They get loan at a reasonable rate of interest.
iv. It helps borrowers to overcome the problem of lack of collateral and
documentation.
V. It saves them from exploitation of the money lenders.
vi.  This interest income becomes an extra source of income of the members.
i.  Any other relevant point
Any three to be explained 50(E) 3x1=3
Need to use renewable energy Resources
13

i. The growing consumption of energy has resulted in the country becoming
increasingly dependent on fossil fuels such as coal, oil and gas.

ii. Rising prices of oil and gas and their potential shortages have raised




uncertainties about the security of energy supply in future
iii. Has serious repercussions on the growth of the national economy.
iv. Increasing use of fossil fuels also causes serious environmental problems.

v. Hence, there is a pressing need to use renewable energy sources like solar
energy, wind, tide, biomass and energy from waste material.

vi. Any other relevant point

62(G) 3x1=3
Any three points to be explained
14 Culture
i. Culture played an important role in creating the idea of the nation, art and
poetry, stories and music helped to express and shape nationalist feelings
ii. emotions, intuition and mystical feelings were not focused
lii their effort was to shared collective heritage, a common cultural past, as the basis
of a nation
iv. They criticized the glorification of reason and science
v. German philosopher Johann Gottfried popularised true spirit of nation through
folksongs, folk poetry and folk dance.
Vi Any other relevant point
Any three to be stated 15(H) 3x1=3
Or
French and education
i.  they countered and dismantled the traditional education system
ii.  they established French schools
iii. introduced French language for Vietnamese
iv. introduce deliberate policy of failing children
V. their text glorified French culture and justified colonial rule
vi.  their education system introduce French, science and hygiene
vii.  Any other relevant point
Any three points to be stated 35(H) 3x1=3
15 Different social groups in The Civil Disobedience Movement

i.  Rich Peasantry Group- the patidar and jats demanded reduction in
revenue and participated in the boycott program

ii.  Poor peasantry Group-they wanted unpaid rent to be remitted , joined

radical movement led by the socialist and communist

iii. Business Class Group- prominent industrialist like Purushottam Das, G D
Birla formed FICCI wanted protection against imports of foreign goods and




vi.

rupee sterling exchange ratio and refused to sell imported goods
Working Class Group- Nagpur Workers adopted boycott of foreign goods,
against low wages and poor working conditions

Women-participate in the protest marches, manufacturing of salt and
boycotted foreign goods

Any other relevant point

Any three points to be explained

65(H)

3x1=3

16

Simon Commission

Vi.

vii.

The new Tory government in Britain constituted a statutory commission
under Sir John Simon.

Set up in response to the nationalist movement.

The commission was to look in to the functioning of the constitutional
system in India and suggest changes.

The problem was that the commission didn’t have a single Indian member.
When the Simon Commission arrived in India in1928, it was greeted with
the slogan ‘Go back Simon’.

All parties, including the Congress and the Muslim League, participated in
the demonstrations.

Any other relevant point

Any three points to be explained

62(H)

3x1=3

17

No party system is ideal for all countries and all situation:

Party system is not something, any country can choose.

It evolves over a long time depending on the nature of the society.

Its social and regional division, its history of policies and its system of
elections

Each country develops a party system that is conditioned by its special
circumstances

(May be assessed as a whole)

77(PS)

19

Poor Households still depend on informal sources of credit because:-

Banks are not present everywhere on rural area.

Even when they are present getting a loan from the bank is much more
difficult than tabbing a loan from informal sources.

Mega banks or public sector banks require proper documents and
collateral.

Absence of collateral is of one of the major reasons which prevent the poor
from getting bank loans.

Informal lenders such as money lenders they know the borrowers
personally and they are willing to give a loan without collateral.

Any other relevant Point

Any three points to be explained.

50(E)

3x1=3




20

India is an important iron and steel producing country in the world yet, we are not

able to perform to our full potential largely due to

High costs and limited availability of coking coal
Lower productivity of labour

Irregular supply of energy and

Poor infrastructure

Any other relevant point

Any three to be explained

73(G)

3x1=3

21

Factors that promotes MNCs

vi.
vii.

Close proximity to the market.

Availability of skilled and unskilled labour at low cost.
Assured production

Governments liberalized policies.

Developed infrastructure.

Safety measures.

Any other relevant point

Any Five points to be explained

57(E)

5x1=5

22

First world war create new economic and political situation in India

Vil.

It led to huge increases in defense expenditure .Which was financed by war
loans and increasing taxes.

Custom duties were raised

Income tax introduced.

Through the war years prices increased doubling between 1913 and 1918 —
leading to extreme hardship for the common people.

Villages were called upon to supply soldiers.

Forced recruitment in rural areas caused wide spread anger.

Crops forted in many parts of India resulting in acute shortage of food. This
was accompanied by influenced evidences.

vii. Any other relevant point

Any five points to be explained

54(H)

5x1=5

23

The definition of tourism is “The cultural , recreational and commercial visit to
internal places is known as tourism” (1)

Tourism is known as trade.

Foreign tourist’s arrival in the country contributing 21828/- crore of foreign
exchange.

More than 15 million people are directly engaged in the tourism industry.
Tourism provides support to local handicrafts.




iv. Foreign tourists visit India for medical tourism and business tourism.
V. Helps in the growth of national income and integrity.

vi.  Any other relevant point 1+4=5
Any four points to be explained (4) 91(G), 92
24 Globalization for small producers and workers
i It may lead to widening of income inequalities among various countries.
ii. Workers jobs are no longer secure.
iii. Expansion of unorganized sector.
iv. Small manufacturers have been hit hard due to severe competition.
V. Several units have been shut down rendering many workers jobless.
vi. Lives of workers are on the whims of employers.
vii.  Workers are denied their fair share of benefits.
viii.  Any other relevant point
Any Five points to be explained 68(E) oX1=5
25
““A public expression of dissatisfaction with democracy shows the success of
democratic project:”
It shows that people have developed awareness and the ability to expect.
People look critically at power holders. They want to make democracy better.
They come up with expressions and complaints. They value their democratic
rights.
To be assessed as whole
98(PS) 5
26 Minerals are an indispensable part of our lives.
i.  Almost everything we use, from a tiny pin to a towering building or a big
ship, all are made from minerals.
ii.  The railway lines and the tarmac (paving) of the roads, our implements and
machinery too are made from minerals.
iii. Cars, buses, trains, aeroplanes are manufactured from minerals and run on
power resources derived from the earth.
iv. Even the food that we eat contains minerals.
V. In all stages of development, human beings have used minerals for their
livelihood, decoration, festivities, religious and ceremonial rites.
vi.  Any other relevant point
Any Five points to be explained 50(G) 5X1=5
27 Democracy and the economic outcomes

i.  Slow economic development and economic growth due to population.
ii. Basic needs of life, such as food clothing, shelter are difficult to make.
jiii. Prevalence of Economic. In equalities.

iv. Poverty is still a big issue.
v.  Allocation of resources in few hands




Vi. Unjust distribution of goods and opportunities.
vii.  Any other relevant point
Any Five points to be explained 93-95(PS) 5X1=5
28 Nationalism in Europe- The Balkans:
i During this period nationalist groups become increasingly intolerant of each
other.
ii. Manipulations of the nationalist aspirations were there.
iii. The Balkan was under the control of the ottoman empire
iv. Ideas of romantic nationalism spread in the Balkan
v.  They claimed for independence or political rights on nationality and
subjected foreign domination
vi. Russia, Germany, England , Austria-hungry were keen on countering the
hold of other powers over the Balkans
vii. This led to a series of wars in the region and finally the First World War
ii.  Any other relevant point
Any Five to be explained 26(H) 5X1=5
OR
Vietnamese Women as warriors and as workers:
i Women joined the army and fought bravely against the American troops.
They succeeded in shooting down war planes.
ii. They were dedicated workers. They carried rifle on their back and worked
in the field.
iii. Whether young or old, women began to be depicted as selflessly working
and fighting to save the country.
iv. As casualties in the war increased in the 1960s, women were urged to join
the struggle in larger numbers.
V. They were portrayed as young, brave and dedicated.

vi. Stories were written to show how happy they felt when they joined the
army and could carry a rifle.

vii. Some stories spoke of their incredible bravery in single-handedly killing the
enemy — Nguyen Thi Xuan, for instance, was reputed to have shot down a
jet with just twenty bullets.

iii.  Any other relevant point
Any Five points to be explained 50(H) 5X1=5
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See filled MAP for Answer.
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aRAE T IWT-AERE (asEifasw)

Outline Map of India (Political)

3x1=3

Note: Champaran, Bardoli may be considered correct answer, without considering B or C

For Visually Impaired Candidate:

29.1) Calcutta
29.2) Bardoli

29.3) Kheda




30 See filled MAP for Answer.
weT ¥, 30 & foe wefas
Map for Q. No. 30
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30 For Visually Impaired Candidate:

30.1) Chennai
30.2) Odisha
30.3) West Coast
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